—UNIVER=

LAE225

Electric Power clamps

LAE | 225|V | C | 31]

1 2 3 4 5
1 Series 2 Size 3 Arm mount position
LAE = Electric Power Clamps 225=225Nm N =Noarm 0=180° VvV =90°
Mounting surface
interchangeable with pneumatic
power clamp, @50 mm
4 Arm style 5 Control unit
C =Central, 15 mm offset 31 =1 connector M12 4 poles T CODE
D =Right, 15 mm offset +1 connector M12 5 poles A CODE
S = Left, 15 mm offset
N =Noarm

Rev. 00 25.01.24



—UNIVER= LAE225NN31

72
45
30*
Area to access
electronic parts
L g “E 2 g 2
g _ « =2 Bl 3
i O O] 452 ~
S N Sol
g 19 R £
‘ 0, o 0
IR [pe s | \g8Ht2 =
E 060 35 6,5 23:0,1
3 O Ojj
@10 H7/10
[——]
3
Area for
manual intervention
— — ©
©
M12x1-4PIN
S
M12x1-5PIN =
120
101,5 456 |
X
i
[
) I D
A\ 4 <
o
size Clamping Closing Weight Operating temperature: 5° + 40° C
moment time** Without arm
IP code: IP 65
225 225 Nm 1secx90° 4,3 Kg

*: TOLERANCE BETWEEN DOWELS =+ 0.02, BETWEEN SCREW HOLES + 0.1
** : FOR MORE DETAILS SEE TECHNICAL SPECIFICATIONS

Subject to technical modifications without notice

Rev.0104.11.16



—UNIVER= LAE2250 31

33
20 30:02™
|
S C D 26 H7 28:01
o iy
b
g a
= b N 2
) S h
A 8
— FanY ;\( ] ::m:
A4
yf \L, |/ < e
78 5
1
| s [ | Area to access
72 ; 2 i electronic parts
| - 2
|
i —~NE B
! L \ 4
|
- 30* I g \\ Q =
2 & e A % 3
N = — ] 8 1350 § &
= | 10:0.05 45 B e
° Ol s |9 95 10) q} Sl
= ~ =
S ~ <9 50
S | O Q 3 M10/12 .
_]9 [o] 93101 9 i
9:0.1 [£_
e 1
Oap® \@8 H7/12 =1
z M8/12/ ; 3 n " . \?
\ i) ,5 £0,
§ o) c}J 23:0.1
@10 H7/10
]
3|
Area for
manual intervention
<
©
M12x1-4PIN
8|
M12x1-5PIN N
120
X 101,5 45,6 |
2
&
©
<
Q
Size Clamping Closing Weight Opera‘ting temperat:ne: 5: ® 4?° c . o . o
S time** Opening angle: 105° - 90° - 75° - 60° - 45° - 30° - 15
Arm position: 180°
IP code: IP 65
225 225 Nm 1secx90° 4,3 Kg

*: TOLERANCE BETWEEN DOWELS =+ 0.02, BETWEEN SCREW HOLES + 0.1
** : FOR MORE DETAILS SEE TECHNICAL SPECIFICATIONS

Subject to technical modifications without notice

Rev.0104.11.16



—UNIVER= LAE225V 31

o
7 o
45
0 144 .
92:01 /
’( Area to access
[‘l’ ]—‘ 5 - > electronic parts
(08 _ 60°
g s T N IR 2
8 2 = NM =
E = z N S .
L N g i35 .-
& 10:0,05 ~ R ]
O : S ) "
& = 50t CP 45
h
M1012 93101 io| 0
PE— | <F| o~
E: 8 H1/12 —
ool 6,5 23101
&
@10 H7/10
]
3
Area for
manual intervention
— |
w
55 %
MI2x1-5PIN | M12x1-4PIN
8
120
= | 1015 456 |
E» X
@6H7 29 3002
D & &5 O
Y
9 4
o_C SO0 o R
« YO YU ~ N
\_ -
Sto00 & D
Y 5 -
9| 30:02 §
Size Clamping Closing Weight Opera‘ting temperat:ne: soj 40°°C o . o . o
TR time** Openlng.a?ngle: 120°-105°- 90°-75°-60° - 45°-30°- 15
Arm position: 90°
IP code: IP 65
225 225Nm 1secx90° 4,3 Kg

*: TOLERANCE BETWEEN DOWELS =+ 0.02, BETWEEN SCREW HOLES + 0.1
** : FOR MORE DETAILS SEE TECHNICAL SPECIFICATIONS

Subject to technical modifications without notice

Rev.0104.11.16



